(8)

(g) Define inflation. Explain social costs of

inflation. 3+7=10
ptatie il ich B K B o W B 1
TS A A |
[ 4
(h) Evaluate the Keynesian model of income
determination.
@ oW e SR e w4 |

() Compare the classical and Keynesian
models of income determination and
point out the fundamental differences
between the two.

RS wE @XM o e Wy e
T N WE qABE TR (Ao NP
Srgferry fia |

() Derive IS and LM curves. Explain their
properties. 6+4=10

IS S® LM (391 YOI ST 41 | 3299 6072
A
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1. Answer any ten from the following questions :
1x10=10
T AIARS 7 PIeT Wb T fora

(@) Who was the first economist to have
coined the term ‘macroeconomics’?

STHEATM SRS’ T YR @I WL
oS fufes 2

(b) What is meant by depreciation cost?
TSI 96 oA R 3w w2
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(2)

Distinguish between intermediate goods
and final goods.

TR R WE pOB AN TS ofefe fefa
3}

(d) Give one example of transfer payment.
A ~fficd B Sz f |

(e) Define gross domestic product.
T T e e i |

() What is velocity of circulation of money?
TR e e 2

(g9 What is money supply?
TR Q@ 2

(h) How does credit creation affect money
supply?
™ BE WA T SIS (AT ASK
CoeTE ?

() What is liquidity preference?
o o &2

() Define ‘open market operations’ as a
tool of monetary policy.
%mmﬁtﬁﬂwﬁ?nﬁvm & WA iR’ e

|
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(3)

(k) Distinguish between demand-pull
inflation and cost-push inflation.

oif eefire qErPfe wF Esiie urdie
o N e 3911

() Which country is facing ‘hyperinflation’
recently?
AT TS (PR (T TTES AT’
TR (=R ?

(m) Mention Say’s law of market.

@’3 359 R Tgy 39

(n) State one essential condition of
Keynesian income determination.

PR SN FfRR S 56 9o SEy
01

(o) In which case is LM curve horizontal?

& cvqe LM @om Sy 20 ?

2. Answer any five from the following
questions : 2x5=10

T IR i @I #isorR T fira
(a) Distinguish between real GDP and
nominal GDP.
oPS P TR TeARA WIE AW PO
TR T N1 AT 7401
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Mention two types of transactions that

(b)
are included in the current account of
balance of payment.
JfRemE SR Sere Rree SEee ([ 1Ry
TR &R BCEY 9 |

(c) What do price indices show?
w3 6F & @ ?

(d) Distinguish between net domestic
product and net national product.
wE ¥ BT WF ww TEY e oS
o A 0 1

(e) Write any two functions of money.
TR R e 9o e foren o

() What is speculative demand for money?
TR FFLTS Sfoemw & 2

(g) Define inflationary gap.
TR F13 e fian |

(h) What is money multiplier formula?
U1 B Aol 2
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Answer any four from the following

questions : 5x4=20

TR 2T R @ oIt Swea fimn

(a) Distinguish between balance of
payment and balance of trade with
example.

TR e AfReneE el Wi e
SAOR &S 147 fAfy 347 |

(b) Distinguish between current and capital
accounts of balance of payments.

AR e e el W [Ee RoreR
e A1 Ry 411

() How would you measure gross national
expenditure? State the limitations of
this method.

P BT T @ERE PR IR @2
wfed TRFOrHR SEy 41 |

(d) Discuss the modern approach to money
supply.
TR Q@R CFae SYfAF 4R Sears
I

(e) Explain the three motives for demand
for money according to Keynes.

PR Wo R SRwR ARG wfeam
kil
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() What is liquidity trap? Explain its
significance on monetary policy.

oen T 2 U1 Noe WH gFF I 740

(g) Explain the causes for the shift of the IS
and LM curves.

IS ¥ LM @31 {9 FTABRS (R FRPHR
T

(h) What is fiscal multiplier? What factors
affect fiscal multiplier?

FERFET B 7 IR BT SRS
1 BT & 2

Answer any four from the following

questions : 10x4=40

o A R e sif¥eR Tes fa

(a) Explain the various basic issues studied
in macroeconomics.

e weAfeT waRe F1 Y& REwE e
0

(b) Discuss the process of national income

accounting in an open economy.

T wdAfes B S S ARFHCH SO
01

( Continued )

(c)

@

(e)

22A/1097

(7)

Explain the process of circular flow of
income. In what ways do international
transactions affect this flow within a
closed economy? 7+3=10

RA TEE RIS AfFACH T 9| Fw
TN AEEfeT M- @3 oS
FEWE ORI 3 2

Critically explain the cash transaction
approach to the quantity theory of

" money.

WA e g wm R gl
SICATEFSIR AT 7 |

Compare and contrast between cash
transaction and cash balance approach
to the quantity theory of money. Which
one is superior? Give reasons. 7+3=10

T AR OGE TS TS T (-0 S
9 G YRR P F1 SF o ey 701
[ @ e 2 3 fa |

Explain the various tools of monetary
policy. Which one is appropriate to the
developing countries? Give reasons. 8+2=10

T MR Rfen wfEemmz I 3101 @
e TRmTe (PR IECT TS ? IR
wofiaT | ’
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